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Maremarnueckasa pa3MHUHKA.

)11 x 200 (Kr)“

6)30:5=6(m)  |&h
24 -6 =24(0.) 0 B
120 e 2




Ilogymamnre,
Ha KaKWE€ 2 IpymIbl MOKHO pPa30UTh
JTaHHbIE 3arnucu’

505 -5
X+ 20=170
X- 40 =30
308 - 8

VpaBHEHUS YucnoBele BBIPAXKEHUA




Tema: Penienue
YPaBHECHHUM.
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IIpoBeprTE perieHne ypaBHEHUM.

X+20=70 X -40=30
X=70—-20 X=30+40
X 50 8=10
50+20=70 70 - 40=30
70=70 30=30







Pabora B rpynmax
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Pabora B mapax

X +2| = DB
X+2=3x5
X+2=15
X=15-2
X=13
13+2=8x5
15 =15

Ortser : 13 kr macca apOys3a.




CamocTosTeIbHaAs padoTa.

R+10=43 9-y =14:2
2xC =24 X +3=17-2




[IpoBeps ceOs

R+10=4 2 x (= 24
R=10-4 C=24:2
R=38 C=12
8 +10 = 4 2x12 =
24

4. = 4. 24

= 24




[IpoBeph ceos.

X+3=17 -2 9-¥=14:2
X+ 3 =15 9-¥Y=T7
X=15-3 D it Al
X=12 a4

12 i 8l = 17~ 2 9-2=13-6

15 715 A ==t
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Hrpa.
12 x 2= O0x 15 =
36 : 3= 4:0=
40 : 10= 1 x 35=
1R 1D= 16 ; 2=

12(/1), 4(O), 0(O), Henw3s(B),

24(3), 35(b), 8(51)
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